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St Client Question
Objective Question
1 1

Question Body and Alternatives

The intermolecular attraction between molecules of the same liquid, is called

U 8 e vard & arujsit & e & SRt s sl @) au @ s &

fM Adhesion

ST
A e 3 .
. Cohesion - (Correct Alternative)
-
A3 Capiltary
Hfterdt

s Surface tension

PLEGEIC]
[Objective Question
2 2 A venturimeter is used for measuring:

gt 1 Fud 71 AT % v R s

'_M Pressure

CE

| AZ
. Flow rate — {Correct Alternative)

Wag &

‘_U Total Energy

Pl
64 Piezometric head

%d qETE

Objective Question o )
33 In laminar flow, the Reynold's number is

g e #, Wiy den s ad 2

el Less than 2000 — (Correct Alternative)

2000 7

i A2 More than 2000

2000 ¥ 34fiE

A3 11 between 20004000

2000-4000 F &

','\4 More than 8000

8000 ¥ 3w
Objective Question
4 4 The rectangular channel section will be most economical when:

HUTTHR T WS Fad 34 wrodt &e grm

'_M The depth of flow is equal to the base width
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Objective Question
5 5

Objective Question
6 6

Objective Question

7 7
Objective Question
8 8
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€ YATE B TN, SHIUR ST & et adl &

Hydraulic radius is equal to twice the depth of flow

v gaaiferd Frsa, ware 3 e $ SR F s Al

A2

Al

o gaaiea Brean, ware ot ot wevd v e 2

A% The depth of flow is equal to twice the base width

I WATE B TS, SMUR ST & S et 2 |

A centrifugal pump impeller having 300 mm diameter runs at 600 r. p.m. The tangential velocity of the impeller is

300 mm ST A T S5 0 5T, 600 £ p m. T el 21 R 1 el A 2

Al 3.14 m/sec

3.14 m/sec

‘,AZJIAmlsec

31.4 m/sec
A

3 62.8 misec

62.8 m/sec
A4 4 . :

9.42 m/sec — (Correct Alternative)

9.42 m/sec

The atmospheric pressure at sea level is called

Y ¢ U3 IrgHS T S1E ) 1 Sl oidl 87

fj” Normal pressure
A aTd

;\2 Standard atmospheric pressure — (Correct Alternative)
AFE AU S a1

‘_M Barometric pressure

RWieded T
fM Absolute pressure

gurf (Ren) g

The manometers are suitable for comparatively pressures.

Ffle, e R gl & R e

Al

Low — (Correct Alternative)

fra

& Medium

Humy
"3 Hign
=
A Very high

Hfag=

If the line of action of all the forces in the system passes through a single point, then it is called

afe; womel) & it &l 9 fovan Y v o fig @ ordt @, di @ Fgl Sl B
f“ General force system
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_Objeclive Question
9 9

Objective Question
10 10

Objective Question
11 11

Objective Question
12 12
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A3

WA & qoTTeht
?\2 Parallel force system
R el W
:U Concurrent force svstem — (Correct Alternative)
st ae yonet
;M Composite force system

EEGERR I

If the force acting on X direction [Fx] is +ve and the force acting on Y direction [Fy] is also +ve, then the object is lying in 10 0.25

the "

R X R [Fx) TR BT 3 911 o +ve (UFTHF) B SR v R [Fy) R B1d B a1 a6t off e (YD) B,
o5 AREe

f“ First quadrant — (Correct Alternative)

v agyufa

fu Second quadrant

fiita argufar

Third quadrant

et agufa

A Fourth quadrant

agy agufa

A3

Al

The centroid of a solid rectangle whose breadth is b and depth is d, is:

U 3R g foraa! retd b iR TeRTE o &, B Fws

im di3

s

:\2 . .

. 472 = (Correct Alternative)
a2

d/a

/4

A% 2w

2d73

The moment of inertia of a rectangle having breadth 0.2 m and depth 0.6 m is

T 31, fores! g7 0.2 m SR TEYE 0.6 m R, F1 g simef grm 7

;“ 36 x 107 m* — (Carrect Alternative)
36x 10 mt

,:\2 96 x 10 m*
96 x 10 m*

‘:;\3 12x10%m*
12x10*m*

?M 60x 104 m*

60 x 104 m*

A surveying which is done to prepare detailed drawings of projects involving roads, railways etc., is

g%!%ﬁwﬁmsﬁ,mmﬁéq@twﬁﬁwaﬁaﬁﬁﬁamﬁmmﬂ?mﬁmmé,ﬂﬁl_
|
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Oﬁjeclive Question
13 13

Objective Question
14 14

Objective Question
15 15

Objective Question
‘16 16
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Al Topographical surveying

RAHTAE Tde0r
fu Geodetic surveying
ity wderor
53 Cadastral surveying
PGB
Ad H . " i
. Engineering surveyving — (Correct Alternative)
geltfrafior ademr

The commonly used field book for chain surveying is

%qﬁwm‘ﬂauﬁmﬁfﬂu%mmﬁmaﬂaﬁm%w(wm)

Al Triple line field book
fuq-arg wies g%

A2

Double line field bovk - (Correct Alternative)
TqE-A1EA WIes §F
':M Single line field book
Rirer-arg wies g%
':M Circular line field book

FReR -5 TS 9%

" The fore bearing of a line is 225°. The back bearing of this line is

T 31 B 37-fgaH 2250 §1 30 Y@ &1 uy-fRRanm H|

f\l 100
10°
1\2 45° — (Correct Alternative)
457

A3 g00
80°
J:M 135°

135°

- The angles measured in a triangle are 20°, 25° and 135° . The type of triangle is

U e & 778 T 10 200, 250 SR 135° § 1 RS &1 UHR 21

':M Well conditioned triangle
R BT

:‘2 1 conditioned triangle - (Correct Alternative)
pfew Bt

,:AJ Ideal triangle
e B

f“ Normal triangle

| B

If there are obstacles in between the points, the method of levelling adopted, is

e, figait & dta et €, & aroers 11 gaes @l i
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Al Fly levelling
T T-HI

AL Check levelling
EUESEGRE

A3 Differential levelling — (Correct Alternative)

frles wwaas
A4 simple levelling

AT "HAEA
Objective Question

17 When contours of different elevation cross each other, it indicates: 10 025
o faft Fard % e U g ®1 UR #a €, O 98 S v ¥
Al A level surface

T EHAT 78

A vertical cliff

U@ TR 4]

A saddle

& dsa

An overhanging cliff — (Covrect Alternative)

U WEfad 7]

| A2
A3
A4

Objective Question
13 18 In a theodolite, the face left position is also called : 1.0 025

e s HedfRR®H_  Rswmed
',M Telescope Normal — (Correct Alternative)
ety Al

Telescope inverted

e Facs

Telescope reversed

efhaiy faes

v Telescope vertical

iy aféea

A2

A3

Objective Question
199 In Tacheometric Survey, the additive constant is denoted by 10 025

o daud dafers mﬂsﬁaﬁww%i
Al g
f-d
._-\2 f+ d - (Correct Alternative)
f+d

3 24

f+2d
| A4 g
f/d
‘Object.ive Question _ . N
20 20 A tnangular shaped masonry work, provided at the ends ofs sloped roof, is 10 025
U@ Y & HER F1 A e, WWWMMkmmmmm% ]

Al Corbel
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31 (@Ea)

Gable - (Correct Alternative)
Pt (aw)

‘:U Coping

ififer @t

Reveals

T vy (e

A2

A4

Objective Question
2121 An indentation in the face of a brick to form a key for holding the mortar, 1s 10

TR 1 U@SA & o1y faht il & 7161 8 $¢ P Weid W Gl $I asiﬂmm%i

025

fM Arris

eIl (UfE)

Bat

31 (¥

Frug — (Correct Alternative)
fareet owm)
g Quoin

P (@)

A2

Al

A

Objective Question

2 2 The fineness of cement is tested by 10 025

Hife 3t yeran &1 wdem - e Y

f“ Vicat apparatus
fawe Jua
:\2 Slump test
YT W&
fu Density test
uTed gdiau
| :‘4 Sieve method — (Correct Alternative)
aret fafl
Objective Question

23 2B The carbon content of mild steel is

TG ST H ST B AR g’ﬁﬁ%i

Low - (Correct Alternative)

fFr

A2 Medium

Al

AU
:\3 High
=
A Very high
. sfaw=

Objective Question
U The stronger timber has

T SARG adel 4 ﬁ?{%’l

1.0 025

Al Closed grains — (Correct Alternative)
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Objective Question
25 25

OIb.jeciive Question
26 26

Objective Question
27 27

Objective Question
28 28
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A4

wu+ g
A

2 Loose grains

3EE dg

i fu Cross grains

fM Discontinuous grains

3f¥ferd g

A type of paint which provides a protective coating without substantially changing the color of the surface, is: 1o 025
U WHR $ U 5 Tde & 17 960 o1 GR&TEE Siie?] TeH Hdl ¢, 96 &

Varnish — (Correct Alternative)
arfm
A2 Enamel paint
i e
:‘\3 Distemper

fsRw

4 White cement

Al

A

Hipe Hide

The type of plastic used for moisﬁre proof packings, is

amken-3eft A & frg Iudim & A TR aTen gued UER ' 21

A

! Polystyrene
UlefeA
Polythene — (Correct Alternative)

uiferefi=

Aj Acrylic

Usfere

‘“ Poly vinyl chloride

et farge FRES

A2

Adding water proofing compounds to the concrete mix is called

e s B et Qvie D B AL, S

A

! Guniting
TR

11\2 Surface treatment

g8 ITER

Integral water proofing — (Correct Alternative)
T fera e

Membrane water proofing

Rreeh wra-Aefiwm

A3

In the arch construction, the purpose of using sand box for resting the props, is

1 Fysfor 3, 2 Y R 35 R Xl 3 SR 3 U A 1 93R '

Al To avoid settlements
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6bjeétive Question
29 29

bbjective Question
30 30

'_O_:bje_ct'ive Question
31 3l

Objective Question
32 32
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A2

A

fAwe S v & forg
'_“2 To avoid shocks — (Correct Alternative)
gew! & a9a & forg

‘.43 To take care of temperature effects

it wHTEl F1 v & e
fM To provide strength

T weH &3 & fou

The durability of lintel is les;s,

| INEGEIR PR

| {\I Stone

TR
Steel
LG
§A3 Reinforced concrete
EIRCE T
.;\4 Wooden — (Correct Alternative)

m

In iﬁ&uslrial bmi&inp, atype of .ﬂb;:;r finish that is laid over concrete topping, is

AN FARG H, UP YR &1 B A, S dwie it W @ war g, 39

‘:“ Granolithic finish — (Correct Alternative)
it Rt

2 Flag stone flooring

TR AR

A

{\3 Glass flooring

AR W
* Tiled flooring
TTges W

The type of finish applied to the bottom most ban of the inien’dr. Qatl is called

iafvs dar F e T w arg sl &1 usr FEaE gl

f\l Pointing

&y (aiEfem)

A2

™ SKirting - (Correct Alternative)

Rt (wfém)

A3 painting

tfer

! ‘_M Plastering

e

Dog-.legged stair is a ;
6K

Si-drs Higt

Al Straight stair

www.ErForum.Net
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Objective Question

Objective Question

Objective Question

33 33
34 34
35 35

Objective Question

36

i St e rm)
‘:'\2 Quarter turn stair
Hufad it @ e vy
Half turn stair — (Correct Alternative)
whtraedt W (g1 o =)

A4 Three quarter turn stair

Frargr.srufad Gt oft &k o wayy

Al

What will happen if you use sea water for cement concrete?

 Hiie dete & forg wgw & ol &1 Sudi s W g

LAl

. The setting time will be reduced

Tl 3rafy & g1 wwrht

AZ No dampness will be formed

et oty 3t eft fda Y @t

f“ The 28 days compressive strength will be increased

28 feasii Wdiss gy &g smom

Ad

28 Raefra wdtss wmuf we smom

Workability of concrete is measured by

e ) g aRITdR T R

A

: Compression test
Hts adtem

A2 Vee-Bee consistency test — (Correct Alternative)

dt.dt wnf wliaon

0 Soundness test

Tl e
f“ Flexure test
A giegor

M35 S Sewie &1 28 oty ey yidts s anqf |

Al 2
f 35 N/mm? - (Correct Alternative)
35 N/mm?

f\z 40 N/mm?

40 N/mm?
A

? 45 Nimm?
45 N/mm?
A% 60 N/mm?
60 N/mm?
The minimum strength of cement required for concrete is :
wiple 3 I smaves e &1 Yran amuf grargl
Al 15 Mpa

www.ErForum.Net
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15 Mpa
A2 20 Mpa

20 Mpa
A

. # 22 Mpa — (Correct Alternative)

22 Mpa
A4 25 Mpa
25 Mpa

Objective Question
3 37 High modulus fibres: 1.0 0.25
= A BIgeER:

'_M Improve compressive strength
Hftes gnrud # UR HIA1 g

A2 Reduce flexural strength

SHA gl 1 HIdl §

‘_M Reduce impact resistance

g oy FH I 8
'_“ Improve both flexural and impact resistance ~ (Correct Alternative)

e W ot g Wikt A A guR v g

Obj_eclive Question

38 38 If we use geopolymer concrete for ordinary concrete works: 1.0 0.25

g g1 WIURY Ssbie @1l & fog e dwie o1 Iudi o § -

‘,“ The cement consumption will be increased

Hhife @t @ua &g st

The cement consumption will be decreased — (Correct Alternative)

HHife o wua ve weht

The environment will be polluted

qafervl wgfva g

f“ The construction cost will become high

o e e 8 s

A2

A3

Objective Question
3% 39 Fly ash is added to concrete:

YH-4W F bt # fafon Siet s 82

1.0 025

f“ Improve the workability of plastic concrete — (Correct Alternative)

guea Swie P wrdamrr § GUR $3 89
?u To avoid bleeding of wet concrete
el i | g eem 8
To reduce the self weight of concrete
HHIT S W YR B FH D &g

fM To reduce the curing time

A3

T TG B FH F og

Objective Question

40 40 The compaction of concrete can be achieved at the site by:
W3 W e B WU [Fad gRI T a1 o1 Fed 82

f“ Shaking the probes

www.ErForum.Net www.ErForum.Net www.ErForum.Net
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L gl (i) B Ree ' 3

A2 Adding more water

3if¥e gt STeER
A3 ; ; ‘
.~ Delaying the concreting operation
EEiCEEINE R e
':\4 Mechanical vibrators — (Correct Alternative)
PUEL R e R e
Objective Question . o
4 4 ‘Maturity of concrete is . 10 025

pie B aRd@ar ]
Al Curing period
e oy
';‘2 Curing period and Temperature of curing — (Correct Alternative)
wHTY yraft IR HET @7 arge
f\l Curing method and Temperature of curing
e fafty ok ey &1 ame

54 Curing temperature

THIYA 1 A9HH
Objective Question o _
a2 a2 ' The cause for cracks on the horizontal surfaces of the concrete is . 0 025
Weic B AT HAg! W IR B HROT G

':“ Plastic shrinkage — (Correct Alternative)

gueda Rigsa

f‘\z Lesser quantity of cement

Wt ot F9 A

1.*\3 Inadequate compaction

i e
fM Lower water cement ratio

R el e s

UERTE A soil has a liquid limit of 36% and plasticity index of 16%. The plastic limit of the soil will be _ 10 025

U& 7T A 36% B aXel W1 3R 16% F1 Guedal Gadbi® ¢ | Tal i guedar Hr gt

A 0%
0%
f‘z 16%

16%

_ :U 20% — (Correct Alternative)

20%

A4 5204
52%

Objective Question

FYR T 10 025

| A bed of sand consists of three horizontal layers of equal thickness. The value for k is 3 x 107 mm/s, 4 x 10~ mm/s and 8

" x 10” mmy/s respectively. The average horizontal permeability is .

Y & U WER W A HIeTS B i TS O 1k BT HA B 3 x 107 movs, 4 x 1073 mm/s 3R 8 x 1077 ms B
g A aremgar Bl

LA 4% 107 mmys 1
www.ErForum.Net www.ErForum.Net www.ErForum.Net
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Objective Question
45 45

Objective Question
46 46

_C)bjeclive Question
47

Objective Question

www.ErForum.Net

4 x 103 mnvs
A2 3 .
. 5x 10% mm/s — (Correct Alternative)

5x 107 mmvs
A3

6x 107 mm/s

6x 107 mnvs
Ad

15x 107 mm/s

15 x 107 mm/s

The vertical stress at some depth below the corner of a 2m x 2m rectangular footing due to a certain load intensity is 20

kN/m?. What will be the vertical stress below the center of a 4m x 4m rectangular footing at the same depth and same load

intensity?
S Aid R S FFRm2 m X2 m HAHR UG & 1 B e FS Te-18 W FHeafeR ufrae 20 kn/ m2 81
GH TG SR A 4R Tl T 4 m x 4 m STTABR UG F $% 3 191 IR ufdae a1 2m

:A' 20 kN/m?

20 kN/m?
A

2 40 kN/m?
40 kN/m?
A3 i )
; 80 kN/m~ — (Correct Alternative)
80 kN/m?
Ad
. 160 kN/m?
160 kN/m?

The coefficient of consolidation is used for evaluating:

WO Ui BT IUAN g & geaie & R s &

A

! Time-rute of settlement — (Correct Alternative)
o dftamw
A2 Syress in the soil

TETH A

: {\3 Over-consolidation ratio

Hf3-HeT SrguT
fM Total settlement
Fa Fwe

A soil element is subjected to minor and major principle stress of 30 kPa and 60 kPa respectively. The maximum shear

stress is

ﬁ:‘@ﬁqmaam’laﬁ%som 3R 60 kPa ¥ 3777 3R W A wfdaw & 3l fvar o 31 sifiwan segy
PRER] I

Al 30 kpa

30 kPa
v, v J— . -
. 15 KkPa—(Correct Alternative)

I3 kPa

A3

.~ 50 kPa

50 kPa
A

4 60 kPa

60 kPa

www.ErForum.Net
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48 48
Objective Question
49 49
O_bjective Question
50 50
Objective Question
51 51
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A

The process of increasing unit weight of soil by forcing the soil solids to move closer due to the expulsion of air fromthe 1.0 0.25
voids is called

Rt 8 g 3 P 3 e g e a3 Prave ot 3 1 3 e o ) s o )

FE |

"‘“ Compaction - (Correct Alternative)
e

f'u Primary consolidation

it e

‘.AJ Secondary consolidation

fadtos dum
fM Settlement

Thetunber of biows observed in a SPT for different penetration depths is given in the figure. The.observed Nvalueis 10 025
am-ma%?ﬁmaﬂnm%mw SPT H 3® ¢ yFpIt 9t we, R A @ s &1 SN s AR

=5
Al 4
14
A2 34
34

. . 48 — (Correct Alternutive)
48
At

62

The ultimate bearing capacity of a soil is 218 kN/m?, the depth of foundation is 1m and unit weight of soil is 18 kN/m?., 10 025

What is the net safe bearing capacity, if the factor of safety is 2.5?

et Tye1 1 Sifos R &t 218 knvm? &, i B RIS 1m § SR ot T g MR 18 kN/m? | afe gRa quis
2.5 §, o 95 R0 uRv e @

A 236 kvim?

236 kN/m?
f‘z 108 kN/m?

108 kN/m?

A3
. 80 kN/m? - (Correct Alternative)

80 kN/m?
M 18 kN/m?

18 kN/m?

The type of footing provided for individual columns of a framed structure is , 10 025

AR W 3 SferT-s1erT wHl & Ry v fvu o 9 ure @1 ver G|

Isvlated footing — (Correct Alternative)

Rrafaae

Al

{&2 Stepped footing

NGICEGRICY

fAB Combined footing

Page 13
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WY gTe ]

A4 Raft foundation
Fs1

Objective Question
52 52

The total load on a shallow foundation is 500 kN and the safe bearing capacity of the soil is 200 kN/m?. The area of the 10 025

Al 3
. 25m*~ (Correct Alternative)

2.5m?
A4
T 2m?

2m?

Objective Question

P 2 A pile is driven in a clay having an average unconfined compressive strength of 160 kN/m2. The cohesion of clay is 10 ek

mwﬁwmmwm 160 KN/m? §, U 3T (WIST) HARI 001 STl § | &1 &1 Wi
I
‘f” 320 kN/m?

320 kN/m?
A2

160 kN/m*
160 kN/m?
A3 T 4
. B0 kN/m*” — (Correct Alternative)
B0 kN/m?
Ad
. 40 KN/m?
40 kN/m?
Objective Question

54 54 - The most widely used type of tubewell in India, is 1.0 025

R A e e o g R e 2
Al Dug well
@rer T Faf
A2 Cavity well
Terg Fofl
j“ Rainy well
R Haif

'_“ Strainer well — (Correct Alternative)

WRaATE Tt
Objective Question

55 55 In the sedimentation process of water treatment, the impurities settle in the tank, under the action of . 1.0 0.25

I Qe @ Sawre uimar 1 fopu & T, Iyfadl ¥ o 59 o €

Al
: Sun rays
T Bt fawo

_Az Biological action

www.ErForum.Net www.ErForum.Net www.ErForum.Net
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Objective Question
56 56

Objective Question
571 57

Objective Question

58 58
Objective Question
59 59

www.ErForum.Net

| A2

| The maximum pressure in which a pipe can withstand without any leakage, during the hydrostatic pressure test is called

T e e 3 A, R S g R R R 3 S 2T a6 S R G 2,
Eal 1 S B

aifaes fa

:ﬂ Gravitational foree - (Correct Alternative)
TFATEY

':M Flow velocity of particles

HUI & WaTg I

The efficiency of sediment removal in a continuous sedimentation tank does not depend upon the: 10

ad 3Ee ¢ 1 dase ger ®f el 9 T R PR a8 st

Al Discharge through the tank
o & mum 4
;\2 Depth of the tank — (Correct Alfernative)
¥ P merd
3 Length of the tank
P

A4

A

" Width of the tank

LB S

are used for the conveyance of domestic water supply.

R F ARy 1 aud a2l

'_M Pressure conduits

&[ aifgasT

Gravity conduits

5@ qifedt

Pressure pipes — (Correct Alternative)

TSR UTgy

‘_M Open channels

LR

Al

LAl

; Working pressure
CALCANEAC]
;\2 ‘Test pressure — (Correct Alternative)
e are *
?“ Design pressure
fEwre @
Ad

" Hydrostatic pressure

FCIOIGE AL

The quantity of liquid waste which flows in sewers during rainy season, 1s called

Tuf g & Try, e # 98 ar 59 Ul & e A FHET A8

‘:“ Storm sewage — (Correct Alternative)

| A2 Commercial sewage

10

www.ErForum.Net WWW.ErForum.Nte_t
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Objective Question
60 60

Objective Question
6l 61

Objective Question

62 62
Objective Question
63 63

www.ErForum.Net

. Waste pipe - (Correct Alternative)

i _A4 Rain water pipe

| A2

Page 16

oo Head

fﬂ Domestic sewage

RIG LT
fM Combined sewage

i meoa

The artificial process of removing objectionable constituents present in the sewage is called 5 10 025

3l A g aoita wed! ) gei @ ohn v HE1 I ¢ |

‘:M Sewage quantity
TereTd URHT (HE)

':A?' Sewage flow
EEERRCIE

A3

" Sewage treatment — (Correct Alfernative)

Hasd 3UAR
Al

t Sewage removal

et fAsre

A pipe through which liquid water flows without human excreta, is : 1.0 0.25
U@ urgy R mrem A g9 o, R ve na F Al e, oI
Al
e =1elt (@ ug)
fLZ Vent pipe
e Uy (de urgy)
A3 sil pipe

g &1 gy (wge urgy)

=1 & Uit 7 93y (3 aret uigh)

The effluents from the septic tank are discharged into 10 025

WMo tsIaRamsm_ dseRuem

A

! Drains
i |
Soak pit - (Correct Alternative) |
T
A3 Oxidation pond
Sifefieru aree
4 Sewer

Hiw

A

The .secondary treatment of sewage is carried out by the use of 1 1.0 025

T &1 fgdas Juar F I gRI faran S g1

'_M Screens

I

A2 Grit Chambers

www.ErForum.Net www.ErForum.Net
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fire 2w
63 Chlorinators
Fefied
A o :
. Trickling filters — (Correct Alternative)
i i
Objective Question

64 64 A crop requires a total depth of 86.4 cm of water for a base period of 100 days. The duty of water is ) 1.0 0.25

%aﬂﬂumaﬁ 100 f&=T 1 31U 3/afl 3 R 86 .4 om 01 1 a1 Mo # sraTaHA D 21 FTEEH
[

i ‘_'“ 1000 hectares/cumec — (Correct Alternative)

1000 FRUVTIHS

Az 691 hectares/cumec

691 RRUVFHS

i ',‘\3 200 hectares/cumec

200 FRW/AGHS

fM 500 hectares/cumec

500 FFRTYFGHD

Objective Question ) _ _ _
65 65 The method of irrigation used for orchards is . 10 0.25

it 3 ferg S 3 e s areht Rierd @ fafy oIk

fM Free flooding
Hed STefra-

62 Border flooding

i smeE
. ':U Basin flooding — (Correct Alternative)

Eioft amreTa=s

fM Check flooding

et s
Objective Question o - R
66 66 When the difference in weir crest and downstream river bed is limited into 3 m, the weir generally used is: o0
o sfftrenT RRaR iR STaRg Rav 3 (o 1 ifa &) R 3 1t wiem) a1 9 3 e ao A Y o 2,
S{HAR U SEIHTE BT S arelt siftiap g gl

‘,M Vertical drop weir

IR urd dfie
?0\2 Drystone slope weir
A3 Parabolic weir
Radfe st
;“ Caoncrete slope weir — (Correct Alternative)
FWie ga it
Objective Question o

67 67 A permanent structure constructed transverse to the river flow extend from the bank into the river up to a certain limit, is 1.0 025

called

aaa;w:%saemﬂﬁﬁawmm,aamaﬁwﬁmmwmmam
CHIGIN

Al Channel

www.ErForum.Net www.ErForum.Net www.ErForum.Net
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Objeclive Question
68 68

Objective Question
69 69

Objective Question
70 70

Objective Question
71 m

www.ErForum.Net

Fa

A2 " .

. Groynes — (Correct Alternative)
BILE|

fu Guide bank

mgE %

Dyke

SIEED

A4

Reclamation of sodic soils involves replacement of exchangeable ions of :

IS ga1 & JgrRu & & fafd! st @1 wiowures wfte 21

'_M Sodium by calcium - (Correct Alfernutive)

Sfewraw gro wifaw
A2 Calcium by sodium

WifgaH gr Hevrm
A3 Sodium by Iron

3T gR1 Aifgan
A4 1ron by sodium

mméﬂﬂﬁ

A simply supported beam of 4m length is subjected to a udl of 4 kN/m. The maximum bending moment at the centre is

%'Tnama‘%mwmaﬂ«z kN/m % T udi & 3¢ v oiren &1 S o) e s sl
[

Al ving

4 kNm
A2 :
. B KNm—(Correct Alternative)
8 kNm
A3 16 im
16 kNm
A 32 kiNm

32 kNm

The section modulus of a rectangular section of breadth 200 mm and depth 600 mm, is
200 mm 9 3R 600 mm TER T ISR TS 1 UR=IE A g

f“ 6 x 10° mm®
6 x 10° mm?
?u 18 x 108 mm*
18 x 108 mm*
fﬁ 36 x 10% mm*
36 x 108 mm*
A

4
. 12x 10° mm?® — (Correct Alternative)

12 x 10° mm?

When a shaft is fixed at one end and subjected to a torque at the other end, the maximum shear stress will be at the:

4 U AR U TR R a¢ 61l ¢ R 80 3R U eyl F ol 2 8, a sifiisan siuesyu ufyaa
I

WERN

www.ErForum.Net
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1.0 0.25
10 025
1.0 .0.25

1.0 025

2
www.ErForum.Net




www.ErForum.Net

Objective Question
72 mn

Objective Question
73 13

Objective Question
74 4

Objective Question
5 75

www.ErForum.Net

Al

. Outer surface — (Correct Alternative)

a7y
Inner surface
Sial® gg
A3 Middie
g
‘:M Point of contraflexure

wfi-se fig

Tbe. éiope at the end support of a simply supported beam of length | cé.rryjng a point load W at thé centre is given by

?ﬁgwﬁgmwwmmﬁaﬁ:ﬁ%wwﬂsmwmmm) gridt
I

Al wisEr

WI/3EI
A2 o ) .
. WISI6EI - (Correct Alternative)

WE/I6E]
A

3
WI2EI
WI2EL

fM WI%/8EI

WI%/8EI

In Columns, the ratio between the buckling load and the safe load is called
BiaH H 3THa-4R 3R FRIE YR & 9 31 3mua Fgamar gl

A

! Design load
feme <its
?&2 Buckling factor
HGT FRS
1:A3 Slenderness ratio
RECUE RN
:N Factor of safety — (Correct Alternative)

TR PRE

The limit state corresponding to maximum load carrying capacity is known as limit state of:

BT HIR T6T &1 & SR YA srae & Prafeid 3 A fvg @ b srawn & &0 & s o &

AI Deflection

fagmur

f\z Cracks

@l

1\3 Collapse - (Correct Alternative)

o

A% chear

HYE=Y[

In the limit state method the design sﬁéss in steel is :
www.ErForum.Net
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dsmri AR fsmadofimaufea_ dardl E

il fy

fy

fﬂ 0.87 fy — (Corvect Alternative)

0.87 fy
A3 ossty
0.85 fy
Ad o671y

0.67 fy

Objective Question

% 76 In the limit state method of design using Tor steel (Fe4 15 bars), the maximum depth of neutral axis for a balanced 1.0 025
rectangular section of effective depth 500 mm, is

PR (Fed15 m;ﬂmmaﬁmmaﬁtﬁmmﬁfﬂﬁ 500 mm @1 UHId} TTERTS F W STAHR
de e sy P aflmaamewd, &

1225 mm
225 mm

\2 240 mm - (Correct Alternative)
240 mm
3 250 mm
250 mm
4 500 mm

500 mm
Objective Question
momn The dead load of a RCC slab of thickness 120 mm, is

120 foreft e el it W 1 eEd UR a’mﬁ

1.0 0.25

Al 5 uim?
2 kN/m?
A2 5 5 kN/m?
2.5 kN/m?
3 3 kN/m* - (Correct Alternative)
3 kN/m?
A4 3 5 km?

3.5 kN/m?
.ébjeclive Question
8 78 The maximum percentage of longitudinal steel in a column is

ot iy o el e @1 Siftyeam ufawra G|

1.0 025

:“ 8% — (Correct Alternative)
8%
A2 40,

7%

A3

6%
A4 5o,
5%
Objective Question o
% 1 An important property to avoid differential settlement of subgrade soil for roads, is 1o 025
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Obyjective Question
80 80

Objective Question
8l 81

ijeﬂive Question
82 82

83 83

www.ErForum.Net

A3

Objective Question o

wg! & forg Iu-oft er F R Frves & w93 & Ry ue wewagef qu

Al . .
. Minimum variation in volume

g H ey e

' i\z Incompressibility — (Corvect Alternative)

¥dtsTa
fu Stability
wifta
" Good drainage

3! -

A

The ty.pe of highway pavements which have very high flexural strength, is:
T Heurdl &1 R, fored aga 3fis st arfa g d wmem W R
f“ Flexible pavements
I ey
fu Water bound Macadam roads
FeR-AIS AHTSH S
fﬂ Semi rigid pavements
3d-2¢ Peury
.:-\4 Rigid pavements — (Correct Alternative)

TE peuty

A hill road is the one which passes through a terrain with a cross slope of:

il

RIS WSE a8 § o faredl B 3y & g et 8, e IR A Bl 81

:“ 25% or more — (Correct Alternative)

259, a1 3t

A2 20% 1o 24%

20% ¥ 24%
10% to 19%

10% 3 19%

Ad

. 0to10%

09 10%

The railway component which provides effective drainage to the track, is

YO $1 98 UeH ol ¢ &1 I Sa-Ferd ugH a2, 98 2l '

Al Raits

yeft (@)
._&2 Formation
faama

Ballast - (Correct Alternative)

fird} @eme)

f“ Sleepers

W

Al

Indian Roéd Congress (IRC) was.set up by the Government of India in the year

www.ErForum.Net
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Objective Question

84

Objective Question

;E):.t.tjective Question

Objective Question

85 85
8 86
87 87

§f39 35 T (1rC) T R HRA WHR TR s

Al 1930
1930

.‘AZ 1934 — (Correct Alternative)

1934

A3 1947

1947
A

4 1950

1950

Water supply tunnels are one of the classifications according to:

Sret Smgfef gt & affeor & SFTER g8

1 Purpose — (Correct Alternative)

Iexg
A2 \lignment

Hrau

4.43 Type of material

R &1 USHR

f“ Type of construction

i &1 ueR

A @ TS 4

An estimate which comprises a complete schedule of all possible items which are likely to occur is called ; 10

ww,mwmﬁamaﬁaﬁqdummﬁmmaﬁ_

),“ Approximate estimate
6{313llﬁa HiFH T
Detailed estimate — (Correct Alternative)

forega smem

f’“ Summary of estimate

A2

3HTHa & GRIY
A

4 Lump sum estimate

S

EZ I

The item of work which are shallow, surface oriented and thin are measured in ; 1.0

B %1 3 avg Wit Fuel!, gF ok weelt gt & @

fM Linear units

fee st
A2 Cubic units
EECaEe

fAJ Lump sum

e

':“ Square units — (Correct Alternative)
o gareal

One of the reasons for valuation, is

Telie & BRI A | 0, 3

www.ErForum.Net
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\Objective Question
88 88

Objective Question
89 89

OIt'J.ject.i.ve Quéstion
90 90

Objective Question
91 91

www.ErForum.Net

fM Checking the quality

T @t Sitg
;\2 Taxativn — (Correct Alternative)
HIUTH
:A3 Collection of rents
e @5t 3
‘:Mi Decoration
SfEiER0
;l'hé Eo.r.nmon reason for repairing cracked concrete 1s
TREBGR BBl B I BT HHFY SR 2l

'_“ To prevent corrosion of reinforcement — (Correct Alternative)
uae ¥ &R H HE & R

Az To safeguard the aggregates from spalling down

U &1 g S a9 & o
f\g To stop the hydration of cement
e & Sierdier @ A9 F g

Ad y .
. To increase the compressive strength of concrete

One of the causes for the formation of rust stains on the surface of the concrete is due to the:

FrbIe B Hag W W ¥ U §1 B Uh PRU AR F A ST

Al —_—
~" Presence of silica in cement

e 7 ffer 3t Sufufa

f_u Presence of Sodium in water
urft 7 Aifsam it guRufa

:\3 Rain streaking from unprotected steel — (Correct Alternative)
aefira e § e ot uw

f“' Addition of fly ash

A4 ST

TG U1 3 EeR At ¥ R 6 Ry g dete CaRUEREaS BRI

fM More quantities of cement

e &t offes A
fa‘z Less quantities of cement

e @) &1 AE
53 Fly ash
Y-

':\4 Steel or other fibres — (Correct Alternative)

§EUTE AT I BIgEY

What is the size of hole when 18 mm diameter bolts are used to connect two plates?

| O &) Qe ®) SIS & 10 18 mm S0 % diee &1 IUa fobar o & al fivg &1 SR &1 gem

www.ErForum.Net
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fM 18 mm

18 mm
A2 19 mm
19 mm
A3 ; g
. 20 mm — (Correct Aliernative)

20 mm

‘Ob;ectwe Question

92 92 The:temile yield strength of a solid E 250 (Fe410) grade el plate of size 220 mm x 12 mm is . S0 0zs
220 mm x 12 mm & & S E 250 (Fed 10) IS W WIe &1 4 WIva Foed g

al 600 kN - (Correct Alternative)
600 KN

A2 g40iN

440 kN

A3 996 kn

996 kN
M 30N
730 kN
Objective Question S
93 93 A horizontal beam spanning between two adjacent roof trusses, is called . 1.0 ;0-25

QY 3T B & il & ot Bl guvs AR e CEEEIGI]

Lintel
fefem
2
Purlin — (Correct Alternative)

Yot (gfer)

Joist

B3 (SFE)

A Stringer

e ugt (REm)

Al

A3

Objecuve Question

;94 04 A laced column is designed for an é;cia] fﬁctored load of 800 kN The iransverse shear to be res:sted by the laced system, is 1.0 02

uﬁﬁwm 800 kN & 3f&fla thaex WR & fere fawme fvar man €1 srpwey sroesuwr &) R wifaa womelt g
_uﬁﬂfﬁaﬁmm% G

Al ok
10 kN

2 20 KN - (Correct Alternative)

20 kN

A3 o kN
80 kN
A% 400 kN
400 kN
_'(_.')'_t'ajéc'ti.ve Question ) .
95 95 One ;;ftﬁe principles of planning is . ’ o . 10 025

o & g A v | |
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f\l The plan should be comprehensive — (Correct Alternative)

TYer=IT 7Y T 1R

The plan should not be realistic

Ao gurfardt 78t 8 anfde

The plan should be fixed

o fRR gt gy

The plan should be shallow

Ao Iud! gt =nfRe

A2
A3

A4

Objective Question o ) ) )
9% 96 The earliest expected time of activity 3, is
g v

I
3 w1 Mafadhy sifém waa 2l
[

Al

3
A2 5 _ (Correct Alternative)
7

s

Objective Question )
97 97 The first required element for achieving excellence in the total quality management is

He Ui Wee H I Pl Wi A & O1g UE I I 2

A

. Ambience
gftasr

i AZ Materials

il

'_—\j Leadership — (Correct Alternative)

Dbjccuve Question

98 98 FmdLhe category in which ragsl aﬂd co.a:se wbologies
g ot ra ¢ Fored Y SR e A Fefta S €)1
':“ Particulate organic material
wfvre Sifae gard
Debris and grit — (Correct Alternative)
werd o fire
: .jl\3 Colloidal and dissolved organic material
Frargdt iR faufea wrfe gerd
Dissolved inorganic material

faufea smet® erd

A2

Ad

Objective Question

www.ErForum.Net www.ErForum.Net

99 99 In Human respiratory system, at the end of the bronchioles are the countless tiny air sacs known as

Page 25
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Objective Question
100 100

T 4 vonett §, geayraael & s | F w7 o oM Al AT S ag- At @ ¥

' ‘,M Bronchi

yraterdr

..-\2 Alveoli = (Carrect Alternative)

Elicaiieal

A3 Cilia

e
A

4 Mucus

s

Which of the following assessments is termed as cradle to grave analysis?

Profifea & 3 fra Fefor o gn & sia fwer wer omr 2

'_'“ Life Cycle Assessment - (Correct Alternative)

witg=-aw fAufRor

{AZ Environment Impact Assessment

yafavor uvra FRefor
A3 Eco Labelling Assessment
got-araferT FuRo

A Life Cost Cycle

SHa-arTd g
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